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Class : XII                                                 WORKSHEET NO.3              Date: 11.11.19
Subject: CHEMISTRY                                                                      

[image: ]
[image: ]
[image: ]
[image: ]



[image: ]
[image: ]



[image: ]

[image: ]

[image: ]
[image: ]




[image: ]
[image: ]




[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]

[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
image7.png
2]

25]

Gas A is produced by dropping calcium carbide in water is bubbled through very dilute
H,S04 containing mercury (11) sulphate to form B

B+ X~ Ethylidene dichloride. X can be

a)Cly b)SoClp / Pyridine ¢) SbClg d) CHCI3

In the Gattermann Koch reaction

acl,
@+ CO+DCl —

The product is
CcHO £HO

2) CgH5CHO b) CgH5CDO o @‘

d)
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2] Identify A, B, Cin the following reaction

CHCOCH, PlNp 0 g Eomsl o

2) CHyCHOHCH3, CHaCHCICH3, CHaCHOHCHZ
b) CH3CHOHCHg, CHaCHCICH3, CH3CH = CHy

©) CH3CH)CH70H CHaCHCH Cl, CHaCHaCH,OH
d) CH3CH2CHZ0H, CH3CH2CH,Cl, CHaCH = CHy

27]  Benzaldehyde undergoes auto-oxidation and reduction in presence of
a)conc.NaOH  b) NapCOy b) NaHCO3 d) dil. NaOH

28] Wolf-Kishner reduction is
a) Reduction of carbonyl compounds into hydrocarbons
b) Reduction of carbonyl compounds into alcohol
<) Reduction of nitrobenzene into aniline
d)Reduction of carbohydrates to alcohols

29]  Propionaldehyde when treated with Zn-Hg / conc. HC gives
2) 2-propanol b) propane
<) 1-propane d) butanal




image9.png
30]

3

32

Which of the following reagents will not react with ethanal ?
) HCl b)Cly
) PCls d)aq NaHSO3

Which of the following reactions cannot be used for the reduction of R,CO = RyCH;
2) Clemmensen reduction b) Woff Kishner-reduction

©) Wurtz reaction d) Hi/red P at 2000C
Which of the following carbony! compounds reacts with chloroform to give a hypnotic

drug?
2) Acetaldehyde ) Acetone ©) Formaldehyde  d) propane
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Which of the following gives ketone on oxidation?

) 20 alcohol b) 19 alcohol ¢) 3%alcohol d) both a&c

Ethyl methyl ketone on reduction with zinc amalgam and conc. HCI gives
2) sec. alcohol b) primary alcohol ¢) isobutane d) n-butane

The chemical reaction of acetaldehyde and ammonia gives
2) Ethylamine b) Hexamethylene tetra amine

©) Acetic acid d) Acetaldehyde ammonia

Among the following, the least reactive aldehyde is
2) HCHO b)CgH5CHO ) CH3CHO d) CyH5CHO

Which of the following reagents can convert benzaldehyde into a mixture of sodium
benzoate and benzyl alcohol ?
) 50% aq. NaOH b) Hy/Pd-BasOy

) HCN followed by hydrolysis d) All

RCH = O + Hj = RCH,OH. For this reaction, catalyst is
2) Nionly b) Pd only ) Ptonly d) Any of the above.
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Aldehydes having no a-hydrogen atom undergo
2) Hoffman reaction b) Aldol condensation

©) Cannizzaro reaction d) Wurtz reaction

Acetone on treatment with sodium and ethanol gives
a) acetic acid b) propanol <) 1-propanol d) isopropyl alcohol

Propionaldehyde is obtained by the alkaline hydrolysis of
2) 1, 1-dichloroethane b) 1, 1-dichloropropane
©)2, 2-dichloropropane d) 1, 1-dichloromethane
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Formaldehyde is very reactive than any other carbony! compounds because of
a) Presence of a-hydrogen

b) Presence of a-carbon

<) absence of electron releasing alkyl group on carbonyl carbon

d)both (a) and (b)

Diacetone alcohol on heating gives

2) acetone b) mesityl oxide ) diacetone amine d) acetoxime
Acetaldol is

2) 3-hydroxy butanol b) 3-hydroxy butanal

©) 2-hydroxy propanal d) 3-hydroxy pentanal

Acetaldehyde when warmed with dil. NaOH at 293 K-303 K and subsequent heating
(dehydration) gives
a) propionaldehyde b) formaldehyde  c) benzaldehyde  d) crotonaldehyde

Which of the following reactions is used to convert ?

AN

Cc-0->CHy
-

2) Williamson's synthesis b) Canizzarro’s reaction
©) Clemmensen’s reaction d) Wurtz's synthesis
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Aldol condensation is given by aldehydes and ketones containing
2) g-hydrogen atom b) a-hydrogen atome

©) g -hydroxly groups d) a-hydroxyl groups

Cannizzarro's reaction involves

a) only oxidation  b) only reduction ¢ self redox reaction ) hydrolysis

Formaldehyde when warmed with concentrated sodium hydroxide solution gives
2) sodium formate and ethanol b) sodium formate and methanol
©) formic acid and sodium methoxide ) formic acid and sodium ethoxide

The reaction in which two moelcules combine to form a new molecule with the
elimination of a small molecule like water is called

) an oxidation reaction b) a condensation reaction

©)a hydrolysis reaction d) a redox reaction
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Which of the following compounds react with formaldehyde to produce ethanol?
2) Ethyl magnesium bromide b) Sodium ethoxide
©) Methyl magnesium iodide d) Methyl bromide

Which of the following products are formed when propanone is treated with dilute
NaOH?

2) Acetoxime b) Diacetone alcohol

©) Diacetone amine d) Acetaldoxime

A compound forms a crystalline derivative with phenylhydrazine and gives red
precipitate with hot Fehling’s solution. The compound is
2)CHCOOH  b)CH3CH0H  ¢)CH3COOCH3  d) CH3CHO

Which of the following carbonyl compound on condensation gives an aromatic
compound?
) CHaCHO b) HCHO ©) (CH3),CO d) CH3CH,CHO

Nucleophilic additon followed by elimination of water molecule for the raction of > C =
Oisnot

shown by the reagent:

2) NH0H b) NHaNH, ©)DNP d) HCN
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2-hydroxy propanoic acid can be obtained by the hydrolysis of
2) acetone cyanohydrin b) acetaldehyde cyanohydrin
©) 2-hydroxy butane d) formaldehyde cyanohydrin

Paraldehyde would be
2) (HCHO)g b)(CHaCHO)3  ©) (HCHO)3 d) (CH3CHO)3

In the complete combustion of an organic compound 2.5 moles of oxygen is consumed.
The possible compound is:
2)CoHy b)CHaCOOH ) GH3CHO d) CyH50H
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If acetaldehyde is treated with Benedict or Fehling solution, the following change
occurs in the system

a)Ag* = Agl b)Cu2* > cud  ¢)Cu2* = Cu*  d)Na* = Nal

The compound that will not give iodoform on treatment with alkali and iodine is

2) acetone b) ethanol <) diethyl ketone  d) isopropyl alcohol

Which of the following reaction is used to prepare § -Hydroxyesters from aldehydes 7
2) Wittig reaction b) aldol condensation
©) Reformatsky reaction d) Michael reaction

In Stephen's reduction which of the following group is converted to —CHO group.

2 _CHOH  b)__COCI ©_CN d) NG
Clemmensen's reduction will convert cyclobutanone to

2) Cyclobutanol b) Cyclobutyraldehyde

©) n-Butane d) Cyclobutane

Ethanal is treated with ammonia and adduct formed is warmed. The final product is
2) Acetaldehyde ammonia b) Acetaldimine

©) Tetramethylene hexamine d) Ethyl amine

The adduct of ethyl magnesium iodide and methanal is hydrolysed. The final product is
2) 1-Propanol b) 2-Propanol
©) Ethanol d) 2-Chloro-1-propanol
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The product formed by the reaction of acetaldehyde with excess of ethanol in the
presence of sulphuric acid is

) CyH50CH,CHy0CoHs b) A Ketal
©) CH3CH(OCHs)y d) CH3CH(OH)y
Bimolecular reduction of acetone gives

2) Diacetone amine b) Pinacol

©) Chloretone d) Propane

Certain carboxyl compound A on reaction with Zn-Hg/ HCI give Methylcyclopentane.
The compound A could be

2) Cyclopentane carbaldehyde b) Cyclohezanone

©) 2-Methylcyclopentan-1-one d)Bothaand ¢
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Which of the following is more reactive than acetone towards reaction with CH3MgBr

) Benzophenone b) Ethyl methyl ketone
<) Benzaldehyde d) Formaldehyde

Ethanal + Aluminium ethoxide X. The product X in the above reaction is
2) Aluminium acetate b) Ethanoic anhydride

©) Propyl Acetate d) Propanoic acid

Which of the following will show disproportionation when treated with 50% aqueous
NaOH ?

2) Benzyl alcohol b) Ethanal

©) Pheny ethanal d) m-nitro benzaldehyde

Which ketone will form 3-ethylpentan-3-0l on treatment with ethyl magnesium
bromide

2) Acetone b) Ethylmethy! ketone

©) Acetophenone d) Diethyl ketone
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Which of the following conversion can be brought about under Wolff-Kishner

reduction?
2) Benzaldehyde to benzyl alcohol  b) Cyclohexanol to cyclohexane
©) Cyclohexanone to cyclohexanol d) Benzophenone to diphenyl methane

What is not true about the oxidation of mixed ketones?
) They are resistant to mild oxidation

b) Oxidation involves cleavage of bond between carbony! carbon and -carbon atom.
©) During cleavage carbonyl group remains with higher alkyl group.

d) Oxidative cleavage is governed by Poppof's rule

Condensation of acetone in conc. HSOy and trimerisation of propyne by passing

through hot copper tube give some compound A. The compound A is
2) Phorone b) Mesitylene ©) Mesityl oxide  d) Mixture of (2) and (c)
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76]  2-Butanone 0%, Y. The product Y of this reaction is
g AOH P

2)2, 3-Butanedione b) 2-Butanoic acid
©) Ethanoic acid d) Mixture of propanoic acid and methanoic
acid

771 Which of the following represents Brady's reagent?
2) [Cu(NH3)4]504 b) KMnO4 / NalOg

NO. NH,
OSSR e &

78] CH3CHO %, X. The product X of the reaction is

2)COp+HO  b)OHC—CHO ) (COOH) d) (CH3);,C0

791 In the reaction of NaBHy with acrylic aldehyde
) Only CHO group is reduced
b) Only C = G bond gets saturated
) Both—CHO and C = C bond get reduced
d) Neither C =0, nor C = C bond is reduced
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Mild | (OMeMeBr

Propan-2-0l oxgai X “@H0 Y

In the above sequence of steps Y is

2) Butan-2-0l

©) 2-Methylpropene
) I

b) Butan-1-ol
d) 2-Methylpropan-2-ol

heat,
CHy ~C- CH, - CH -C- Cffy g X— Y

Here, the final product Y is
2) 3-Methylcyclopent-2-en-1-one
©)2,5-Hexanediol

b) 3-Methylcyclopentanol
d) 3-Methylcyclohexanone
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A substance A containing three carbon atoms gives white crystalline precipitate with
sodium bisulphite solution but does not give red precipitate with Fehling solution. A on
treatment with NHy — NHp / KOH will yield

a) Propene b) Propane

<) Cyclopropane d) Propionic acid
© L/NaOH

Catte® Koo RO CHL

In this sequence the starting compound is

a) 1-propanol b) Propanal

<) 2-propanol d) Ethyl methyl ether.

Certain ketone A (capable of showing iodoform test positive) on reduction gives B8 on
acidic dehydration at 443 K gives C.C on reductive ozonolysis gives only MeCHO. A
and C in the above sequence are respectively

2) CHyCOCH3 and CH3CH = CHy

b) CH3COCoHs, CH3CHaCH = CHy

©) CH3COCyH5 and CH3CH = CHCH

d) CH3COCyH5, CHaCHy = CH(OH)CH3
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Match the following lists
List]
P.  Grignard reagent 1

Clemmensen reaction

R Rosenmund reduction

S Wolff-Kishner
reduction

The correct answer is

P
a) 3
b) 3
) 2
d) 5

]

List Il

Hy/Pd-BasOy

2. NyHy  KOH
(IIH;—OH
CH—OH

3. CHaMgX

4 Zn-Hg:conc HCI

5 HyNi

R s

2 1

12

4 5

2 1




image24.png
86]

87]

The reaction :>=o + CH3COgH gives

a)an acid b) an ester
©)an anhydride d) an alcohol

Which of the following sequences can be used to synthesize 2-methyl-2-hexanol 2
HO

2-Methy1-2-hexanol

o

CHMgBr  HOH-
) —_— =

[

CHCHMgBy _HOH-
) SeRAe 20T

o
1y MQCH JCHMgB: | HOH+

a)l, lland Il b)lland i1l
Qlandil d)landlil
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o
_l —_ group is reduced to__CHy__group by

1. LiAIHg 2 Hilred P 3.Zn-Hg/HCl 4. NHp-NHp,
KOH /glycol

2)1,2,3only b)1,3, 4only

92,3, 4only d)1,2,3,4

A ketone reacted with Grignard reagent followed by hydrolysis gave a product which
on dehydration gave an alkene. The alkene gave pentan-3-one and ethanal on treatment
with O3(CClg) and Zn/H20. The ketone is

2) Propanone b) Butanone

©) Pentan-3-one d) Pentan-2-one
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Identify the end product 'C'
o

zé MeHERQ | SOCL p RONwY o

00 00 00 G0
Which one of the following is reduced with zinc and hydrochloric acid to give the
corresponding hydrocarbon?

2) Ethyl acetate b) Butan-2-one
©) Acetamide d) Acetic acid

Which one of the following undergoes reaction with 50% sodium hydroxide solution to
give the corresponding alcohol and acid?
2) Phenol b)Benzoicacid ¢ Butanal d) Benzaldehyde

Compound ‘A" (molecular formula C3HgO) is treated Pyridinium chlorocromate(P.C.C)
to form, product '8' (molecular formula C3HgO). 'B' forms a shining silver mirror on

warming with ammonical silver nitrate. 'B' when treated with an aqueous solution of
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HyNCONHNH; HCI and sodium acetate gives a product 'C'. Identify the structure of
o
2) CHaCHCH = NNHCONH,
CH—C=NNHCONH,
b) S
CH,

o) CH—C=NCONENE,
CH,

d) CH3CH,CH = NCONHNH,,

How will you convert butan-2-one to propanoic acid?
a) Tollen's reagent b) Fehling’s solution

) NaOH/lIp/ H* d) NaOH/Nal/H*




image28.png
95]

9%]

97]

Lin@—CHO s ) OO
HO
hleo@—cﬂ: H-COOH

The compound (X) is
2)CHaCOOH  b)BrCHy — COOH ) (CH3C0RO ) CHO _COOH

A and B in the following reactions are

scx RN
RC—RES 45,

v R Nem
o oH
2)A=RRC <7, B=LiAlH, b)A=RRC 7~ B=NHy
~SoH ~~coox,
_on
©)A=RRC 8= H,0° d) A=RRCH,CN, B=NaOH
~Sox

Among H—CHO, CH3CHO and CgHsCHO which will undergo Cannizzaro's reaction
?

2) HCHO and CH3 —CHO b) CHz—CHO and CgH5CHO

©) CgH5CHO and HCHO d) Al of these
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The reagent with which both acetaldehyde and ketone react easily is
2) Fehling solution b) Grignard’s reagent
©) Schiff's reagent d) Tollen’s reagent

Diethy! ketone and a dimethyl ketone can be distinguished with
2) Tollen’s reagent b) Fehling’s solution
©) Schiffs reagent d) Haloform test

Formaldehyde and formic acid are distinguished by treating with
2) Tollen’s reagent b) NaHCO3
©) Fehling solution d) Schiff's reagent
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Benedict solution provides
a)Ag* b)Li* ¢) Cu?*t d) Ba2*

The class of compounds that are reduced in primary alcohols and respond to Fehling's
solution are known as

2) aromatic amines b) aliphatic aldehydes

<) aliphatic ketones d) aromatic ketones

One mole of an organic compound is found to require only 0.5 mole of oxygen to
produce an acid. Which class of compound does the starting material belong to
2) Alcohol b) Aldehyde ©)Ether d) Ketone.

When acetaldehyde is heated with Fehling solution, it gives a precipitate of
2)Cuo b)Cu ©)Cuz0 d)Cu+Cu0

Silver mirror test is given by
a) aldehyde b) ketones ©)amines d) ethers

Which of the following gives silver mirror test ?
2) propanol b) propanone <) propane d) propanal

HCHO and CHCHO differ from each other towards

2) Schiff's reagent b) Fehling solution
) ammonia d) ammonical AgNO3
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Tollens' reagent is
) Cu(NOg), + NH4OH b) AgNO3 + NH4OH
©) sodium potassium tartarate d) (CH2)gN4 + NH4OH

Aldehyde reacts with ammoniacal silver nitrate solution to give
a)Agr0 b)[AgINH3l*]  ©) Ag d) AgINH]
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The blue colour of Fehling’s solution is due to
) Cup0 b) CuCO3 ©)Cuo d) Cu* * ions

A suitable reagent for the distinction of aldehyde and ketone is
2) NHOH b) NHoNHy
©)DNP d)amm. AgNO3

Fehling solution is made by mixing two separate solutions. One of which is a solution
of copper sulphate only while the other contains
2) NaHCO3 b)NayCOy © KNaC4H40  d)KHCOg

An aldehyde that does not give red precipitate on heating with Fehling’s reagent is
) methanal b) ethanal
©) benzldehyde d) propanal

If acetaldehyde is treated with Benedict or Fehling solution, the following change
occurs in the system:

a)Agt— Ag®  b)CuF - Cu®  )Cu-Cut  d)Nat - Na®

sitver Fehling

A —thm,g  Hem g Febling ,pReqppr)
oy H0" solution

Compound A, B, Cand D are
) CHI3, CHCH, CH3CHO, Cuo b) CHCl3, CHCH, CH3CHO, Cu0

©) CCI3CHO, CHCH, CH3CHO, CupO  d) CHI3, CHCH, CHaCHO, CHCOOH
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Reaction of [Ag(NHg)p]* OH- and R CHO involves

2) oxidation of _CHO b) reduction of __CHO
©) hydration of _CHO d) none of these

The compound that will not give iodoform on treatment with alkali and iodine is
2) acetone b) ethanol <) diethyl ketone  d) isopropyl alcohol
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A compound has molecular formula CgH 1. It gives sodium bisulphite derivative and
hydrazone but not give iodoform test and not reduced Fehling’s solution. The
compound is

2) CHaCHoCOCH — CHy b) CHa— CHy — CHy __CHp _ COCHj

©)CH3 — CHy — CHy — CHy — CHO d) (CHg)y — GH — COCH3

An organic compound gives silver mirror with tollen’s reagent and reduces the colour
of Schiff's reagent but does not give a red ppt. with Fehling solution. The compound is
2) an aliphatic aldehyde b) an aliphatic ketone
©)an aromatic aldehyde d) an aromatic ketone

In the presence of aluminium ethoxide, aldehydesget converted into ester. The reaction
is known as

) Schmidt reaction b) Aldol condensation

©) Beckmann’s rearrangement reaction ~ d) Tischenko reaction
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Propan-2-ol on treatment with copper at 3000C forms

2) Acetone b) Acetaldehyde  c) Ethane d)Both A &B
Name the geminal dihalide from which formaldehyde can be prepared

2) Methylene chioride b) Ethylidene dichloride

©)2, 2-dichloropropane d)1, 1-dichloropropane

Acetone can be prepared from 2-propanol by
a) hydrolysis b) oxidation ©) decarboxylation d) reduction

Which of the following products are formed when a geminal dihalide containing two
halogen atoms on a terminal carbon atoms is hydrolysed using an aqueous alkali?

2) A ketone b) An aldehyde

©) A monohydric alcohol d) A carboxylic acid

2, 2-dichloropropane on hydrolysis with aqueous KOH gives
a)formaldehyde  b) acetaldehyde  c) acetone d) acetic acid

Propionitrile when treated with methyl magnesium iodide in dry ether and subsequent
hydrolysis gives

2) dimethy! ketone b) diethy! ketone

©) ethyl methyl ketone d) ethyl propyl ketone
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To prepare acetaldehyde, the cyanide and Grignard reagent used are
a) hydrogen cyanide and methyl magnesium iodide

) hydrogen cyanide and ethyl magnesium iodide

<) methyl cyanide and methyl magnesium iodide

d) methyl cyanide and ethyl magnesium iodide

How is an aldehyde obtained from a calcium salt of a carboxylic acid?

2) By oxidation b) By hydrolysis
©) By decarboxylation d) By dehydration

parzeso,
In the Rosenmund’s reaction, RCOCI + H,  ————"*,RCHO + HCI BaSO, here
2) promotes catalytic activity of Pd b removes the HCI formed in the reaction

<) deactivates palladium d) activates palladium
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2.2-dichloropropane on hydrolysis gives the product bearing the functional group:
2)__CHO b)>C=0 90— d)_OH

Alkanoic acid when heated to a temperature of 300°C in presence of MnO gives the
product containing the functional group:

2) _CHOH b)_0_ ©_COOCHy  d)>C=0

The olefin which on ozonolysis gives CH;CH,CHO and CHiCHO is 7
2) 1-butene b) 2-butene ©) 1-pentene d) 2-pentene

Etard's reaction involves the preparation of benzaldehyde from
2) Toluene b) Ethyl benzene  ¢) Benzoyl chloride d) sodium benzoate

Propanoy! chloride is subjected to reduction with H; in boiling xylene in the presence of
Pd supported on BasO,. The product formed is
2) Acetone b) Propionaldehyde c) Ethanal d) Propanone

In order to prepare acetone from acetyl chloride in one step, which of the following
reagent will be best?

a)HI b) Diethyl cadmium

©) Methyl magnesium bromide d) Dimethyl cadmium

Which of the following can be used as formylating agent in the presence of AICI; ?
2) HCOOH + HCI b) CO + HCI ©)CO+Cly d) HCl + 0y
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Which of the following will not form when the mixture if calcium acetate and calcium
formate is distilled ?
2) Acetone b) Propanal <) Ethanal d) Methanal

Which reagent is suitable for preparation of a mixture of 2-pentanone and 3-pentanone
to n-pentane?
) Zn-Hg/HCI b) LiAIH

©) KaCr07/HS04 d) One step conversion is not possible

An alkene, C7H14 on reductive ozonolysis gave propanal and a ketone. The probable
formula of ketone is

2) Acetone b) Ethyl methylketone
<) 2-Pentanone d) 3-Pentanone
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Hydrogenation of in the presence of palladium supported on BasOy
gives
2) Benzyl alcohol b) Toluene carbaldehyde
©) Toluicacid d) o-Cresol

Oxidation of toluene with CrOg in the presence of (CH3CO);0 gives a product A which

on treatment with aq. NaOH produce
) CgH5CHO b) CgH5COONa ¢ (CgH5C0)0  d) (CH3COR0

@_C o,

The final product in this reaction is
2) Benzaldehyde  b) Acetophenone ) Benzyl alcohols — d) Phenylethanol

A diene on reductive ozonolysis gives formaldehyde, ethyl glyoxal and ethanal as the

final products. The diene can be
cH,

2)CH; — CH = CH—CH, —CH = CH, b) CH;CH=C-CH=CH,
©)CH3—CH =CH—CH=CHj d) CHy =CH— CH = CHy




